	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	TN
	V40

R65
	
	
	
	
	
	

	EM
	V55

R50
	
	
	
	
	
	

	CM
	V55

R50
	
	
	
	
	
	

	BR
	V60

R45
	
	
	
	
	
	

	LA
	V60

R45
	
	
	
	
	
	

	KO
	V70

R35
	
	
	
	
	

	VP
	V60

R55
	
	
	
	
	


Legenda:

	
	5 secunde


Calculele:

V=50 Km/h

                            50000m……………………….3600s

TN ( EM           250m  …………………………X                          X=18s

EM( CM           130m ………………………… Y


Y=9.35s

CM( BR
    280m........................................  Z


Z=20.14s

BR ( LA
    360m ....................................... W


W=25.9s

LA ( KO
    230m ....................................... T


T=16.55s

KO (VP
    200m ....................................... V


V=14.39s
